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(a) v-*-gE srffi6 BA rt (cAGR) ql wr dfrqt

(re) t.o t-e<-<ti qqT irftqrc +?

ffiR*o + + ffi i qt rflqq tqff ftftss : (s+s)

(e) ffq-{dr

(rq) €$dr

(r) srffi+ cfrs-d rt (IRR)

(v) <nr qrtun ftR (EMI)

fThis question paper contains 8 printed pages.]
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Er+*ftqft*sr

E{ yr;r-q={ A frmi ff sci frs qS fiuffu qxla q1 i[q<I

wffirmftR'sq r

E€+tffiqt{yriqrsm? r

qrft vrn + lrq qqm{ r

qnlRur +dE+.( 3q+{ d tsrdqR * t

fi yrr-rl-r rFTirR stdt qr BA ffi C*- qcT+ Afrq, eB-{
qlft3.f,i6Iftaq\'6S*rIqBq t

(a) What are the three main types of measures of

central tendency? Explain each with a brief

definition and an examPle. (5)

(b) Explain the use of Pivot Tables and Filtering in

data summarization. (5)

(a) Discuss the different types of measures of

dispersion. Which one is considered most reliable

and why? (6)

Yelr Proiect A ({)

0 -180,000 - 180,000

I 60,000 30,000

2 50,000 40,000

3 40,000 20,000

4 30,000 60,000

5 40,000 65,000

6 45,000 75,000

(q) w{qrR-d lR{-s {fffir frqr .rqr *:
c=20+0.65Y

sc+q ft i{rc + q-crt+ qsfuI{ *{ qq6fr q1q1

*ftsr (s)

cr+ dfrq fr. irFrql ?so,ooo q1 fffu rrqq t qlq ffifrdd
{d <-o s? .rqr 

'

2019: f60,000

2020: {66,000

2021: {85,000
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3. (a) mq t aq dq trffia w t uq-o-cr ;{rffi-r tir *d
*r B-{+ ERI cqm frs il+ sre }cr + q-6R * (fr
qqrstr (s)

(re) R6 tffi {,sq,tt. qr ff}sr sifr * 3lti ffiR{d
T+''fr lrsr6 et< o,-{ft tr rox ql vt w g6 q{qg

.Frr (c-{ft&) fr rrq{r dfrqr (s)

Year Cash Flow

I <40,000

(45,000

{50,000

4 <55,000

5 <60,000

4. (t.) ti-o rqE frE 6r sq+rr ord ffiRla n qRqtr<dt

d gd-{ 4tfuqr fus cRctd-{r d sruR-mt * vrft

qrBs? (s )

(b) Explain how to create a pie ihart in Excel or R

using a small dataset of your choice. (4)

(a) List at least five publicly available economic data

sources and the type of data they provide (5)

(b) A company invests (1,00,000 and receives the

following cash flows. Compute Net Present Value

(NPV) at l0%o discount rate. (5)

Year Cash Flow

I t40,000

2 <45,000

3 150,000

4 <55,000

5 t60,000

(a) Compare the following two projects using the

Payback Period method. Which project should be

preferred? (5)
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Year Project A (9 Project B (l)

0 -180,000 - 180,000

l 60,000 30,000

2 50,000 40,000

3 40,000 20,000

4 30,000 60,000

5 40,000 65,000

6 45,000 75,000

(b) Given the estimated linear equation :

c=20+0.65Y
Interpret the intercept and slope in the context of
consumption and income. (5)

Suppose your investment of t50,000 grew to the
following values over time :

2019: {60,000

2020: {66,000

2021: ?85,000

(a) Calculate the Compound Annual Growth Rate
(cAGR).

(b) What do you mean by Rank Corretation?

Write short notes on any two of the following :

(s+s)
(a) Skewness

(b) Correlation

(c) lnternal Rate of Return (IRR)

(d) Equated Monthly Instalment (EMI)

(t-) *ffe qft * wr * ffqS* utnR rsr *? r+6 d
rils< cRrrer *t:-qreiq * rsm {Tflr{+r (s)

(te) ta <nnr i ft-*e ?-{d *: ftrcRrr + gqfrn d qnqr

6ftsr (s)

(o) qRelqq + trfu{ y-*n * ocr+ l-t q-d dfrqr
qt<-qr qs+ Er*rftq qFrr vrff t ft qd? (a)

(re) vrant fr srfr ,rtrd + Em We qr sc+{r or+
v*o qr om + cr{ qr6 *t s-{r 16i *r (a)

6

L

5

2

P,T.O


